2013-03-09 DM LAG 8:1

14 bord, 28 par. Antal brickor: 8. IMP &ver faltet.

Slutresultat

Plac Par Poang

305
1
2
4
205

GO WN -

6 104
7 206
8 107
9 207
0 203

11 106
12 303
13 101
14 302
15 102

16 301

17 103
18 306

21 307
23 304
25 204
26 202

27 201
28 105

Filbyter Bridge

4,52
2,73
1,92
1,88
1,83

1,47
1,17
0,77
0,72
0,61

0,36
0,31
0,07
0,04
-0,04

-0,07
-0,31
-0,36
-0,61
-0,72

-0,77
-1,17
-1,47
-1,83
-1,88

-1,92
-2,73
-4,52

Namn

Hans Brolin - Bjorn Westling
Kenth Sandéhn - Sten Gustavsson
Gunder Persson - Bengt Lindblom
Jan Unosson - Gunnar Léngardh
Hans Friberg - Connie Friberg

Patrik Elofsson - Leif Samuelsson
Goran Levan - Carl Ek

Thomas Johansson - Mark Strandell
Mikael Danielsson - Conny Johansson
Rolf Béck - Sten Johansson

Leif Axelsson - Markus Hedstrém
Jerry EKI6f - Kjell Karlsson
Arnold lvansson - Niklas Lundberg
Kurt Karlsson - Ake Bergman
Carina Ljung - Pia Malmgren

Assy Sandéhn - Rune Karlsson
Gullvi Hogberg - Ricky Johansson
Maj Arvidsson - Bengt Svantesson
Jarl Hallberg - Karl-Erik Karlsson
Henrik Noberius - Bo Roos

Christian Carlsson - Bjorn Sorling

Sven-Goran Lennartsson - Ove Lundgren

Gunnel Svensson - Birgitta Lénberg
Jaenita Johansson - Sten Oman
Benny Olsson - Christer Swenson

Lili-Anne Krikstrom - Ann Ohlsson
Hakan Gustafsson - V&ing Bistsjo
Fredrik Axelsson - David Johansson

Klubb

Bords BA
Falkdpings BS
Skovde BA
Bords BA
Skara BS

Skovde BA
Skovde BA
Vargérda BS
Vargarda BS
Boras BA

Skévde BA

Skovde BA

Stenstorps BK - Skovde BA
Skévde BA - Hjo BS
Skovde BA

Falkdpings BS

Falképings BS - Borés BA
Herrljunga BK

Skovde BA

Skara BS

Skara BS
Herrljunga BK
Borads BA
Boras BA
Skévde BA

Skodvde BA - Tibro BK
Skovde BA
Skovde BA



2013-03-09 DM LAG 8:1 Slutresultat
14 bord, 28 par. Antal brickor: 8. IMP &ver faltet.
Bricka: 1 Bricka: 2 Bricka: 3
Par  Kontr Ut Resultat Poéng Par  Kontr Ut Resultat Poang Par  Kontr Ut Resultat Poang
2202 3N N +1 &4 430 58 -58 1201 3N O -4 +2 200 49 -49 1201 5«xV -2 vE 500 69 -69
1201 3N N = %2 400 49 -49 5205 3N O -4 +6 200 49 -49 | 102 302 5&x V -2 6 500 69 -69
3203 3N N = v10 400 49 -49 3203 3N O -3 vD 150 30 -30 | 104 304 4v N +1 &7 450 52 -52
4204 3N N = wvkn 400 49 -49 6206 3N O -3 410 150 30 -30 7207 4v N = &3 420 44 -44
5205 3N N = &3 400 49 -49 | 103303 54 O -3 43 150 30 -30 | 106 306 4v N = &2 420 44 -44
7207 3N N = &6 400 49 -49 2202 2N O -2 410 100 9 -9 | 107307 4a N = &3 420 44 -44
104 304 3N N = &3 400 49 -49 4204 1IN V -2 «3 100 9 9 3203 2v N +3 a7 200 -32 32
106 306 3N N = %2 400 49 -49 | 101301 3N O -2 410 100 9 -9 | 103303 3v N +2 a5 200 -32 32
107 307 3N N = wkn 400 49 -49 | 105305 3N O -2 v7 100 9 -9 | 105305 3v N+2 &3 200 -32 32
6206 3N N -1 %2 -50 -90 90 | 106306 3N O -2 v7 100 9 9 2202 3v N+143 170 -43 43
101301 3N N -1 &3 50 -90 90 | 102302 2N O -1 vD 50 1212 4204 2v N +2 ¢5 170 -43 43
102 302 3N N -1 &3 -50 -90 90 | 107 307 3a V -1 48 50 -12 12 5205 3v N+1 46 170 -43 43
103303 3N N -1 &2 -50 -90 90 7207 3% V +1 v8 -130 -70 70 | 101 301 3¢ N +1 &3 170 -43 43
105305 3N N -1 vkn 50 -90 90 | 104304 3N O = a3 -400 -139 139 6206 3v N = &3 140 -54 54
Bricka: 4 Bricka: 5 Bricka: 6
Par  Kontr Ut Resultat Poéng Par  Kontr Ut Resultat Poéng Par  Kontr Ut Resultat Poéng
101301 3N O -2 «9 200 114 -114 1201 3N S = %4 600 52 -52 1201 4v O +1 &2 -650 10 -10
2202 44 V -1 &2 100 87 -87 2202 3N S = &5 600 52 -52 4204 4v O +1 aE -650 10 -10
4204 24 V -1 &7 100 87 -87 4204 3N S = «E 600 52 -52 5205 4v O +1 a3 -650 10 -10
104 304 44 O -1 ¢2 100 87 -87 6206 3N S = %4 600 52 -52 6206 54 V = o7 -650 10 -10
102 302 3¢ O +1 v6 -130 26 -26 | 101301 3N S = &5 600 52 -52 | 104 304 4a V +1 &E -650 10 -10
1201 34 V = &3 -140 24 -24 | 102302 3N S = &6 600 52 -52 | 105305 4v O +1 10 -650 10 -10
7207 38 O = &5 -140 24 -24 | 103303 3N S = &5 600 52 -52 | 106 306 5v V = &5 -650 10 -10
103303 34 V = a5 -140 24 -24 | 104304 3N S = oK 600 52 -52 2202 49 O +2 aE -680 -4 4
3203 2N O +1 «8 -150 23 -23 | 106 306 3N S = &9 600 52 -52 3203 4v O +2 &2 -680 -4 4
5205 3N O = «9 -600 -96 96 | 107 307 3«x V -3 vE 500 21 -21 | 101301 4v O +2 &5 680 -4 4
107 307 3N O = 8 -600 -96 96 3203 3N S -1 8 -100 -117 117 | 102 302 4v O +2 &2 -680 -4 4
6206 44 V = &5 -620 -101 101 5205 3N S -1 ¢E -100 -117 117 | 103 303 4v O +2 &5 -680 -4 4
105 305 44 O = &E -620 -101 101 7207 3N S -1 &2 -100 -117 117 | 107 307 4v O +2 46 -680 -4 4
106 306 3N O +1 &7 -630 -102 102 | 105305 3N S -2 &5 -200 -138 138 7207 5&x N -4 vE -800 -46 46
Bricka: 7 Bricka: 8
Par  Kontr Ut Resultat Poéng Par  Kontr Ut Resultat Poang
107 307 IN N +3 aE 180 34 -34 2202 3% S = v5 110 47 -47
3203 IN N +2 v7 150 21 21 7207 2% S +1ev4 110 47 -47
5205 IN N +2 v6 150 21 -21 | 104 304 3+ N = ¥3 110 47 -47
103 303 IN N +2 aE 150 21 -21 | 107 307 4exV -1 «kn 100 44 -44
1201 IN N +1 aE 120 8 -8 1201 2¢ V -1 a3 50 23 -23
4204 IN N +1 3 120 8 -8 4204 2v O -1 a5 50 23 -23
6206 IN N +1 5 120 8 -8 6206 2v O -1 AaD 50 23 -23
106 306 IN N +1 aK 120 8 -8 | 101301 2¢ V = a9 90 -25 25
104 304 24 V -1 ¢E 100 -5 5| 105305 24 S -2 #2 -100 -28 28
2202 IN N = a7 90 6 6 3203 3¢ V = akn -110 -33 33
7207 IN N = a3 90 -6 6 | 103303 3¢ V = akn -110 -33 33
101 301 IN N = a3 90 -6 6 | 106 306 3¢ V = a9 -110 -33 33
102 302 IN N = a3 90 -6 6 | 102302 IN V +1 a9 -120 -39 39
105305 3N N -2 a3 -200 -100 100 5205 3N N -4 ¢kn -200 -63 63
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